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NOTE
1. . This question booklet contains 200 questions numbered from 1 to 200 and each question carries 1 mark.

All questions are compulsory. There is no negative marking.

2. Tally the number of pages along with no. of questions printed on cover page of the booklet. Also check
that question booklet contains the questions of all relevant subjects/topics, as required and stated
above and no repetition or omission of questions is evident.

3. If any. discrepancy is found in the Question Booklet, the same can be replaced with another correct
Question Booklet.

4. Before answering the questions please read carefully the instructions printed on the back cover page of
the question booklet and strictly follow them. There is no provision of erasing or changing of the answer

marked inO.M.A. answer sheets by any other means. Therefore, Indicate your answers by blacking

fun circles by black bali-pOint pen carefully on the O.M.R. Answer Sheet provided.

5. Use of any type of. calculator, mobile phone or any other electronic equipment and log table etc. is
strictly prohibited.
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1. A wire of resistance.R.#i cut into ten equal par1$ then these parts are connected in
parallel to each other. Resistance of this.arranqement will be :
(A) 0·01 R . (8) 0'1 R
(C) 10'R (D) 100 R
"Q!-fiRB!:l ctOR q;) ~ ~ ~ .q~, "f-f ~ q;) 'a411HH Sfill.q ~ 1p:JJt-I ~ ~ .

·~nrf~u~m:
(A) 0·01 R (8) 0'1 R
(C) 10 R (D) 100 R

2. A hollow sphere.of 5 cm radius is charged in such a way that 10 volts potential develops
on its surface. Potential at 2 cm distance from the centre of sphere will be:
(A) 5 Volts (a) 4 Volts'

10 .
(C) "3 Volts (0) 10 Volts

"Q!-fi 5 Wft ~ ct~"$ ~ ~ q;) ~ ~ ~. fi:f;lrr \1fKfr t fer; ~ "TO "tRfcJoqq

10~t-1 ~ct~~2~. "tRfcJoqqm:

(A) 5~ (8) 4~

(C) ~ ~ . (D) 10~

3. Two points at 0'5 metre distance from each other have a potential djfference of
50 volts. The work required in taking a charge of 2 coulomb from one point to another
will be :
'(A) 1·0 Joule (8) 25 Joules
(C) 50 Joules (D) 100 Joules
"Q!-fi-~ ~ 0'5 ~ qft ~ "tR~ m ~aTI.q 50 ~ em fcJ~ t-I 2 ~ ~ q;) "Q!-fi

~ ~ ~ 0Cfi ~ ~ .q 31lq:(4Cfl -m em lWi mrn :

(A) 1·0~ (8) 25~
(C) 50~ (D) 100~

4. A capacitor of A ~F capacity is charged upto 400 volts. Its plates. are connected by a
conductor wire, then heat produced in the wire is :
(A) 0·64 J (8) 0'32 J
(C) 0'16J (D) 1·28J
4 ~FmRmem ~.~ 400 ~ 0Cfi ~ t I ~ ~ Cfil ~ ~ OR sm ~"tR-erR
.q~~t:
(A) 0·64 J (8) 0'32 J
(C) 0'16J (D) 1~8J

,
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5. A charged condenser is connected to a battery. If a. ~!jp:of dielectric material is
introduced between its plates, then which of the following quantity will remain
unchanged? '
(A) Charge ,(8) Potential difference
(C) Capacity (0), Energy
~ ~"fi'l:lTfuf ~ ~ ~ t I ~ ~ ~ ~ ~ q<la@~~ qft~ Wm~m~
~ ~ ~ lTI'5IT aiqRqfdd 'WiT ?
(A) ~ (8) ~
(C) mfun (0) ~

\ i

6. The unit of permittivity of free space is :
(A) Newton-metres-coutomtr" (8) Newton-metre-2-coulomb2,

(C) Newton-1-metre-2-coulomb2 (0) Newton,-1-metre2-coulomb-2

~ qft fCl'{!)dl<fl ("Id I q;J l1BrCfl t :
(A) ~_~2_~-2 (8) ~_~-2~~

(C) ~-1_~-2_~ (0) ~-1_~_~-2

7; , Unit of specltic-hsat is:

(A) J...,.K-1-kg-1 (8) J-K-1-kg

(C) J-1-K-kg-1 (0) J-1_K-1_kg-1

~ ~ q;J l1BrCfl t :
(A) ~_~-1_fcf;m-1 (8) ~_~-1_fcnm

(C) ~-1_~_fcnm-1 (0) ~-1_~-1_fcnm-1

8. A simple harmonic oscillator has frequency 20 Hertz and amplitude 5 mm. Acceleration
at maximum displacement will be : '

(A) 125·6 ms-2 (8) 79 ms-2

(C) 628 ms-2 (0) 0'628 ms-2

~ ~ a:rrcrnf ~ qft ~ 20$ om 3lflI1l{ 5m. t, aTI~ ~fillq'1 ~ ~ ~

Wn:
(A) 125·6 'tft.~.-2
(C) 628 'tft:~.-2

(8) 79 'tft.~.-2
(0) 0·628 'tft.~.-2
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9. In the preparation'ofsoop; substance usad as'tYi3'IS:
. i .'1' " (_ I ,~ ~ ~ " -:r

(A) Na ., .. ~ (8) NaOH

(C) CH3COONa. ';'.'~,',

~ ~ f.tlUuJ -q, ~ ct1~"#~ mrr ~ :.
(0) Sodium Silicate

~. t

(8) NaOH
", .

(A) Na

(C) CH3COONa .-

10. At room temperature oil is liquid because it has:

(A) Unsaturated fatty acids (8) Saturated fatty acids
, ". I'

(C) Non-fatty proteins (0) GI}icerol,

~ct1mq"tR~~ct1~~~f~~mmi: .

(A) ~~ ..~ (8) ~~~

(C) arcmtq ~, (0) fl.t"HHTt1

11. Which of the following enzymes hydrolyses triglyceride into fatty acids and glycerol?

(A) Amylase

(C) Lipase

(8) Maltase

(0) Pepsin

f..p:::r .q ~ ~ Qf'fII~q <;:1~rt1,('HI~ti cnl ~ ~ ~ r<.1,(,I<Tt1.q ~ ~q€jfc!d 'CfR ~ f ?

(A) ~ql~<?l\l1 (8) ~

(C) "~ (0) ~

I

I
•

i, .•

12. Enzymes are:

(A) Carbohydrates

(C) Fibrous proteins

l0iIl~q ~f:
(A) CflIii41til~~(!

(C) ~~

(8) Nucleic acid

(0) " Globular proteins

(8) 4'CR1Cf1~

(0) Int1ICf1R~

A-Set I~91



13. In acidic medium KMn04 reacts according to the following reaction:

2 KMn04 + 3H2SO 4~. K2S04 +2MnS04 + at420' + 50

Its equivalent weight is :
(A) 31.6 (B) 52.7
(C) 72.0 (0)' 158.0
~ llT~ "B KMn04 f.p:::r w:nR ~ Cfi«ff t :

2 KMn04 + 3H2S04 ~ K2S04 + 2MnS04 + 3H20 + 50
~ 8;<"4iCfll 'qR t :
(A) 31.6
(C) 72.0

(B} 52.7
(0) 158.0

14. 25 ml of a decinormal NaOH solution is required to completely neutralise a diabasic
acid containing 0.16 grams. The molecular weight of the acid is :
(A) 32 (B) 6
(C) 128 (f') 25
~ 1t-~ ~ ~ 0.16 "lJlll ~ 'T'f d~I.m11Cfi<ol ~ ~ ,g«\'if4('1 NaOH fcR1<:A ~

25 'fl:rfu. Cfft 3iICl~4Cfidl mID t I ~ 'qil ~'qR t :
(A) 32 (B) 6

(C) 128 (0) 25

15. In an organic compound C = 40%, 0= 53.34% and H = 6.66%. Its empirical formula
is:

W CHO ~ C~O
.(C) C2H20 (0) CH402
~ Cfil4f1Cfi ~"B C = 40%, 0= 53.34% Cf?:fl H = 6.66%t I ~ 'i<rllj41<11 ~ t :

W CHO ~ C~O
(C) C2H20 (0) CH402

16. How many isomers are possible for the alkyl group C4HS?
(A) 2 (B) 3
(Q) 4 (0) 5
~F~('1 ~C4H9 ~~ fi14IC14cil ~~ ?
(A) 2 (B) 3
(C) 4 (0) 5

1-91
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17. IUPAC name of thetollowinq is :

H H
1 1

H-C-C-CI
1 1
H CI

(A) 1, 2-0ichloroethane

(C) 1, 1-0ichloroethane

f.r::;r Cf1T ~. ~ eft. ~. m. ~ t :

(8) 2,2-0ichloroethane

(0) Oichloroethane

H H
1 1

H-C-C-CI
-I 1H CI

(A) 1,2 :g1~CR1liltJ:~

(C) 1, 1 :g1$Ck11iltJ:~

(8) 2, 2 :g1~6R1liltJ:~

(0) :g1~tR1IiltJ:~

18. Lyophobic colloids are:

(A) Reversible Cplloids

(C) Protective Colloids

~ fcTUm CflIC1T~:gt :
--;::r']:mi::ltJr •... ~(A) ,.k5f)4on~ CfllC1I~:g

(C) ~~ Cfl)(1fl1:g

(8) Irreversible Colloids

(0) Gum Protein

(8) f1 .... ~~j}iji40 i~ CfliC1I;Q:g

(0) ifiG >T1iR

19. The pH of a solution obtained by dissolving 0.4 .gram of solid NaOH in one litre of

water will be :

(8) 10(A) 2

(C) 11 (0) 12

~ ~ 1 ~ # -am NaOH ~ 0.4 'ID11 tftffi 1:f\ ~ ~ Offt pH m-rrr :
(A) 2 (8) 10

(0)12(C) 11
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20. FeCI3 solution is:

(A) Acidic

(C) Neutral
FeCI

3
fcfw.R % :

(A) ~

(C) 3~1'811

t .'

(8) Alkaline

(D) .Amphoteric

(8) ~

(D) ~wff

21. If the solubility of Ca(OH)2 is J3 . Its solubility product will be :

(A) 3 (8) 27-,·

(C) J3 (D) 12J3
~ Ca(OH)2 cnT fq@l4dl J3 % I ~ fq@l4dl ~OI1Cfi(1WIT : :,_:-

(A) 3 (8) 27

(C) J3 (D) 12J3 ,'.' ..

22. One litre of a buffer solution containing 0.01 M NH4CI and 0.1 M NH40H having pKb
of 5 has pH of :

(A) 9

(C) 4
(8) 10

(D) 6

0.01 M NH4CI ~m0.1 M NH40H cfl ~ ~~ fcfw.R em pKb CfiTl1AS %~ pH %:
(A) 9 (8) 10

(C) 4 (D) 6

23. The pH of'~lO~1 M acetic acid is 3. The degreeofionization of acetic acid will be
(Ka= 2.0 x 10-3) :

(A) 1% (8) 10%

(C) 0.10% (D) Less than 1%

0.1 M Q'8lf'::Ai ~ctftpH=3 %1 Q'8I·fGCfi.~~ 3114'11Cfi{OlcnT'11T?TTm- (K = 2.0 x10-3) :a : ..

(A) 1% (8) 10%

(C) 0.10% (D) 1% it Cfil1 . •



24. Which of the following compounds contains both ionic and covalent bonds?
(A) H20 (8) NaOH
(C) CsH5CI (0) CO2
~ if "B fcflB ~ if ~ CfI!lT fltfi'41\i1Cfi ~ )fCfiR ~ ~ ~ ~ ?
(A) H20 (8) NaOH
(C) CsH5CI (0) CO2

25. In which of the following ionic, covalent and coordinate bonds are present?
(A) Water . \ . (8) Ammonia
(C) Sodium isocyanide (0) Potassium bromide
~ if ~ ~,fltfiotfl\i1Cfi am: dqfi~\i1Cfi ~ dqf~ ~ ~ ?
(A) \lffi (8) 3i41f141

(C) ;HJf~4'"1 3i1~ftlfll~11~~ (0) 41~F.<14'"1<iI'"II~:S

26. The energy of the electron in the hydrogen atom is given by the following equation :

(A)

27t2z2e4m nh
(C) n2h2 (0) 27t

tl~~\i11 ~ if ~@lCf'iT1qft ~ ~ fl41 Cfi<01bJU 0llCffi Cfft \lfRft ~ :
, '

(A)

(C)
nh

(0) 27t

27. Electronic configuration of H+ is :
(A) 1sD (8) 151

(C) 1s2 (0) 151251

H+ q;y ~~'ff1Cfi 'fcp.m:f ~ :

(A) 1sD (8) 151

(C) 1s2 (0) 151251

A-Set :is/2SGRA';''page-l ~ 1-91



28. Number of neutrons in heavy hydrogen atom is :
(A) 0 (B) 1
(~)2 ([») 3
~ tl~&1\j\1~ if ~ Cfft ~ ~ :
(A) 0
(~) 2

(8) 1
([») 3

29. Electronic configuration of chromium atom in ground state is:
(A) [Ar] 3d5 451 (B) 3d44s2

(~) 3d6450 ([») 4d5451

9hif'lllG ~ CfiT ~ ~ if ~<?Ii'.f'{ff.1Cfl fcpm:f ~ :

(A) [Ar] 3d5 451 (B) 3d44s2

(~) 3d 645° ([») 4d 5451

30. According to Bohr's theory, the angular momentum for an electron in fifth orbit is:

2.5h
(A)

rr

5h
(8)

rt

25h(~) 2n

5h
([») 2n

2.5h
(A) n

5h
(B) n

25h(C) 2n

5h(0) 2n

1-91 13123GRtt~page"li2 A-Set



31. Which of the following is a disaooharide ?
(A) Lactose

(8) Starch
(C) Cellulose
(0) Fructose
f.p:;{ if ~ ~ :S1~~~<I~:S ~ ?
(A) ~ , - >

(8) m
(C) ~<1<:1)~ ;,
(0) ~

32. An a-particle is identical with .:

(A) Proton
(8) Neutron

(C) Helium Nucleus
(0) Electron
a-Cfi11T ct ~ t :
(A) meR

(8) ~
(C) 'Q1 f<14 '"i -;:ffi'lfCf)

(0) . $MCf?H

33. Tritium undergoes radtoactive decay to give:

(A) a-particle
(8) p-particle

(C) Neutron
(0) None of these
~1$fC:4'"ict {fs....n~fcR:Cj ~ ct 'fl(1'8=!(C\q f1CflWII ~ :

(A) a-Cfi1l1

(8) p-Cfi1l1

(G) ~
(0) ~~~~

·A;;.Set



34. If 7th and 13th terms of an Arithmetic Progression are 34'ahd 64 respectively .then its
18th term is :

(A) 72 (8) 86

(C) . 89 {D) 92

~ ~ ~ ~ cnTrcn ~ 13cTI-q; 9:ilm: 34 3W: 64 %, en ~ 18cTI-q; ~ :

(A) 72 (8) 86

(C) 89 (0) 92

35. If the sum of n terms of an Arithmetic Progression is 3rt + 5n, then which of its term is
164 ?
(A) 27th (8) 30th

(C) 24th (0) 25th

~~~ ~~ n~cnT-wr 3rt + 5n%, m~-q;OfiT1ffi 164 ~ ?
(A) 27& (8) 30~

(C) 24~ (oj 25~

36. n arithmetic means are inserted between 7 and 71. If fifth arithmetic mean is 27, then
the value of n is :

(A) 13 (8) 12

(C) 14 '(0) 15

7 3W: 71 ct llVl n ~ l1TVl ~ ~ llit ~ I 7:Tfu:5qf '~:r'tfMf--trrVl27 m I m n 0fiT1ffi t :
_1'_' . ',I'

(A) 13 (8) 12

(C) 14 (0) 15

37. If in an arithmetic progression m times of the mth term is equal to the n times of the nth
term, then the value of (m + n)th term of this arithmetic progression is :

(A) 1 (8) 0

(C) rn « n (D) m-n
7:Tfu: ~ ~ ~~ ~ -q;0fiT m:fTT~ rn -q; ~ n'TIT ~ ~ m, m ~;~.~~
(m + n)~ -q; cnT1ffi ~ :" .'

(A) 1 (8) 0

(C) m+ n (0) m - n

1-91 A-Set
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38. Ifb = a - a2 + a3 -~1.it ....., then vaJue of a ia; Pi'

b
(A)

1+b

b
(8) 1-b ':-'T .~

j .. ~

1
(C) b+-

b

1
(0) b--

b

~ b= a- a2 + a3- a4 + .....,m aCfIT11At:

b
(A) 1+b

b
(8) 1-b

1(C) b+-
b ,

i '" ~

1
(0) b--

b

39. If the sum of first two terms of an infinite geometric progression is 1 and ev~ry term is
twice the sum of all the successive terms, then its first term is :

1
(A) 4

1
(8) 3

..•.--~--~~-------------.---~----~~~------------

3 1
(C) 4 . ; . (0) 2.~ ~ am ~ ~ ~ >r~ ~ -qcff CfIT?i\lT1 t 3W ~ 11G"Bcqr 3'd{\,(H -qcff cfi ~ qiT ~ t,

m )f\l.11111GCfITl1R t :. ~\

1-.
(A) -

4

3
(C) -

4

1
. (8) 3

1
(0) 2 '- \ <:

A-Set



40. If each term of a positive term geometric progression is equal to the sum of its two
preceding terms, then the value of r is :

1
(A) -

2

(8) ~(1-vS)
2

2(C) -3

(0) ~(1 + vS)
2

7:fR 'l-~ -qcff CfR1llJuTtm ~ ~ ~ ~ Cfi1 "qR wR .~~ Gl-qcff ~ <WI ~ ~ m, m r
-,

Cfi1"qR 1? :

1
(A) -

2

(8) ~(1-vS)
2

2(C) -
3

(0) ~(1+ fs)
2

41. If four geometric means are inserted between 16( and 5, then the third geometric

mean is:

(A) 40

(C) 10

(8) 20

(D) 80

(A) 40

(C) 10

(8) 20

(0) 80

1-91
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42. If 1093 a = 4, then value of a is :
(A) 81 (8) 64
(C) 27 (0) 16

~ 1093 a = 4 m, eft a CfiT l=JR % :
(A) 81 (8) 64
(C) 27 (0) 16

43. The value of 10925 125 - 1098 4 is :

3 2(A) - (8) -
2 3

(C) 5- (0) None of these6

10925 125 - 1096 4 CfiT l=JR % :

(A) 3 2- (8) -
2 3

5 ~it~-;@(C) - (0)6

44. The value of 10910 (0·001) is :
(A) 2 (8) -2
(C) 3 (0) -3
10910 (0·001) CfiT l=JR % :
(A) 2 (8) -2
(C) 3 (0) -3

45. The characteristic of the logarithm of the number 0·000287, is :

(A) 4 (8) 3

(C) - (0) -
4 3

~ 0·000287 q1 C1~IIOICfl CfiT ~ % :
(A) 4 (8) 3

(C) - (0) -
4 3

'<. . -"' ..--."' •... .'~-.,-.•... " 1.•91A-Set :,1'3123GRIt:""tpage-17



46. The value of cosec 225° + cosec (- 2025°) is :
' ,

c,

(A) 2J2 (8) 0

(C) J2 (8)
J3
2

cosec 225° + cosec (- 2025°) C!11+lR t :
(A) 2J2 (8) 0

(C) J2 (0)
J3
2

47. cot( e - 3
2
7t) is equal to:

(A) -tan e

(C) cote

cot( e- 3
2
7t)~t:

(A) -tan e

(C) cote

(8) tan o
(0) -cote

(8) tan e

(0) -cote L

48. If the angle of elevation of the top of a tower from a point on the horizontal plane at
300 metres apart from foot of the tower is 30° then the height of the tower is :

(A) 50J3 metres

(C) 100J3 metres

(8) 120 metres

(0) 90 metres
"

~ ~ lfRR <t -qre:'B ~ 1R Wrn 300 ~ ~ 'B lfRR <tmm C!11~ cnlur30°t enlfRR
q;l~l:

(A) 50J3 ~
/

(C) 100J3 ~

(8) 120 ~

(0) 90~
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49. The value of cos 75° is : ..' ..•.,

1
(A) 2J2

(8)
J3+1
2J2

(C) J3-1

(D) J3-1
2J2

cos 75°-CfilliR ~ :

1
(A) 2J2

(8)
J3+1
2J2

(C) ./3-1

(D) J3-1
2J2

(A) J3
2

1
(8) 2

J3+1
(D) 2J2(C) 0

. 71t 1t 71t . 1t ~
Sin 12COS 4 - COS 12Sin 4 q;r llR Q :

(A) .J3
2

1
(8) -

2

(D)
../3+1
2J2(C) 0

A-Set ·1+91
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51. The value of sin G!+ sin 0 is :

2 ' C+O , C-O(A) Sin sin
2 2

, C-O C+D
(8) 2Sin cos

2 2

, C+ D C-D
(C) 2sIn COS

2 2

2cos
C+O C-D

(D) cos
2 2

sin C + sin D CfiTl1R t :
2' C+D , C-D(A) Sin Sin

2 2

2,C-D C+D
(8) Sin cos

2 2

2' C+D C-D
(C) Sin COS

2 2

2cos C+D C-D
(D) cos

2 2

10, 1°
52. The value of cos 222Sin672 is :

(A) J2-1

2J2

(C) J2+1

1° 1°
cos22-sin67- CfiTl1R t :

2 2

(A) J2-1
212

(C) -12+1

J2+1
(8) 2-12

1
(D) 2J2

J2+1
(8) 2-12

1
(0) 2J2
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53. If a, b, c are in arithmetic progression and x, y, z are in geometric proqression, then

the value of xb-c yc-a za-b is:

(A) xyz
(e) )(1yb zC

(8) 0
(D) 1

~ a, b, c~ ~~~Cf~ x, y,z~ ~~t m xb-Cyc-aza-b q;-PfA%:

(A) xyz (8) 0
(e) )(1yb zC (D) 1

54. If the median of the following data

8,11,12,16, 16+x, 20,25,30
is 18, then the value of x is :
(A) 6
(e) 5

(8) 4
(D) 3

~ r1IOO1r<1r~d ~

8,11,12,

Cfll.m'&fCfiT 18 m, m x cnPfR % :
(A) 6
(e) 5

16, 16 + x, 20, 25, 30

(8) 4
(D) 3

1~91

55. The following frequency distribution shows weights of 12 students:

Weight (in kg.) 67 70 72 73 75
No. of students 4 3 2 2 1

The mean weight is :
(A) 70·25 kg
(e) 71 kg

(8) 71·50 kg
(D) 70·75 kg

I >If\" (1'!;m if) 67 72 7370

3 2 24

llf'&f '11R% :
(A) 70·25 fcf;m

(e) 71 fcf;m

(8) 71·50 fcf;m

(D) 70·75 fcfim
---,-,,,.-'"
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56. Mean deviation is least from:

(A) Mean (8) Mode

(C) Median (D) Extreme value

m~ fq'q(11 ~ ~ mcrr % :
(A) m~"B (8) ~"B

(C) -qff~ i=r (D) ~~i=r

r.fd2 (r.fd )2
57. If standard deviation 0" = N- 35 ' then the value of N is :

(A) J35
(8) 30

(C) 35

(0) None of these

(A) J35
(8) 30

(C) 35

(0) ~"B ~ "1"@

58. For a series LxF = tOO, n = 5, and LXi = 20 ,then the variance is :

(A) 4

(C) 8

(B) 16

(0) 5

(A) 4
(C) 8

(8) 16

(0) 5



59. Prop roots of Banyan tree are meant for:
(A) Providing support to big tree (B) Absorption of water from soil
(C) Retention of.w:.tjJ;t~~insoil (D) Respiration
~ q1~ ~ ~ "CfIffi ~ qrr CfiPf ~ :

(A) fcmR1 ~8J Cfi) ~ ~ q1~ (B) ~ ~ "tJRTCfi) 31q~nMd CfiB q1~
(C) ~ -ij ~ Cfi) ~ q1.~ (D) ~q1~.-,.A,. I-

60. Root is distinguishable from stem in :
(A) Having a root cap

(B) Having root hairslLi"';

(C) Absence of nodes and internodes

(D) All of these

~ cR ~ 3wrT q~:qHJ \lIT~ ~ :

(A) ~ ~ ~ ~ q1CfiR1lT

(B) ~ -uqr q1~ ~ q1CfiR1lT

(C) -qui ~ ~ Cfl1 ~lq~fu q1CfiR1lT

(D)"~"Bcqr

61. Cystolith is deposit of :

(A) Starch (B) Calcium carbonate

(C) Calcium bicarbonate (D) Silica
f~<RIf(1~ ~ ~ :

(A) ~qrr (B) ~fct"ilj'"l CflJa(f~(!qrr
(C) ~fct"ilj'"l i!41~CflIa(f~(!qrr (D) fBf(1CflI qrr

I \t

62. Wood is:

(A) Primary xylem

(C) Secondary xylem

~~:
(A) m~zy;
(C.) ft;.til'4~~

(B) Primary phloem

(D) Secondary phloem'

(8) m~~
(D) rGt11;qCfl~



63. Function of stem is :

(A) to bear leaves and branches

(8) conduction of water and minerals

(C) conduction and storage of food

(D) All of these
Wt cfiPfiT<:T~ :
(A) ~ ~ "W§ITa11q;l 'tWUT ~

(8) ~~~~q;l~~

(C) ~~~~~~q;l~~

(D) it"B'4t

64. Endodermis is not differentiated in :

(A) Monocot roots

(C) Monocot stems
~os"'i'Sf4f1fcr~ 1@ mm ~ :
(A) Q!*i~l'JIq5\l-qtm q;l ~ -q
(C) ~Cfi~I'JIq5\l-qtm* <Rf-q

(8) Dicot roots

(D) Dicot stems

(8) f&~'JIqil-qtm q;l ~-q
(D) f&~'JIqil~~ * <Rf-q

65. "Families of Flowering Plants" is written by :

(A) Hutchinson (8) Takhtajan

(C) Cronquist (D) Engler and Prantle
"cfifl n ~ ~ R " ....P-.-. ~~ ':1<.'1 'JI 31'['1:fi wi ct II (('11~fI '<.I"CI Cl Q :

(A) ~IDU

66. Standard size of a Herbarium sheet is :

(A) 20 x 28 cm

(C) 32 x 40 cm
~~~R~4 me CfiT l""fACfi lOfT11 ~ :

(A) 20x28~

(C) 32 x40~

(8) d&1I'J111 IDU

(8) 42 x 28 cm

(D) 35 x 20 cm

(8) 42 x 28~

(D) 35 x 20~
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67. Photosystem I absorbs light preferentially of ttile wavelength:

(A) > 680 nm (8) < 680 nm

(C) 680 nm (D) 400 nm
tfililfft·R)·i I~~ ~q<Ao:etCfiT ~ 3lf~ ~ cfi m~ 6'lq~nftll('1 fcfi<:n \iI'Tffi % ?

(A) > 680 ~;:114l2,( (8) < 680 ~'1'i4l2'(
(C) 680 ~ofI¥Oj)2< (D) 400 ~ofI4l2,(

68. Transpiration is high under:

(A) Dry environment

(C) High temperature
ql&tlffi;41 3lf~ mar t :
(A) ~ qldlq'(Uj ~

(C) 3lf~ m-qlWf ~

(8) Low atmospheric pressure

(D) All of these

(8) qjdlq'(UI ~ Cfi11 ~ ~

(D) ~ri

69. In isobilateralleaf, the number of stomata are:

(A) More on lower surface

(8) More on uppersurface ;
(C) Approximately same on both the surfaces

(D) Absent on both the surfaces
~ 'Ei'if6:ql~qCfi -quf ~ ~ qftmr mm % :
(A) f.Rtffi ~ 'tf'( ~

(8) ~ ~'tf'( ~

(C) GT11~ 'tf'( 'WT'qlT '@'tFf

(D) GT11~ 'tf'( 3ilqf~fct

I
70. Electron donor to PSI is :

(A) Ferredoxin (8) FeS centre

(C) Plastoquinone (D) Plastocyanin

tfililfftfl'i I qft ~<ACf?cAGRIT % :
(A) ~ 'llgTfCffl '1 (8) ~~~

(C) l{11fi\Cf11T1 (D) l{11fi\ 'EiIIIf-11

----- -----------.~---~.-~~-~-
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71. Least effective wavelength of light in photosynthesis is: ,.

(A) Violet

(C) Green

(B) Blue

(0) Red

(A) ~

(C) ~

(8) fR11

(0) ~

72. Which one is most efficient converter of sunlight?

(A) Sugarcane (B) Wheat

(C) Papaya (0) Rice

~ ~ ~ cnT ~ ~ _Q!l:Cld6f1 ~ :

(A) lFfT (B) Ttt

(C) ~ (D) ~

73. Substances which originate at the tip of stem and controtgrowth·elsewhere are:

(A) Enzymes (B) Hormones

(C) Vitamins (0) None of these

~ ~?l ~ fq; Wi ~ ~ 1:f{~ m~3ltt ~ CFil fCfim 3Flr 'qTlT-q f14fP?ld ~ t~~~:
(A) ~ (B) ~

(C) fClGlf~Ofl (0) ~ ~ ~ -;;m

74. The amount of DNA in a metaphase nucleus is :

(A) 1C (B) 2C
(C) 3C (D) 4C
qGlcfi~ ~ -q m. "0;1. "Q;. ·CfiT o:rr?ITmffl t :
(A) 1m r. (B) 2m
(C)3m (0) 4m
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75. A species has zn « 14 chromosomes. Another closely J~1ed speci~ 2n = 12 ~
chromosomes. What will be the chromosome ~lrrl~d formed from
these two species?
(A) 13 (8) 24

I

(C)28 (0)26 ~'
"QJfi ~ -ij 101~'1lctr ~ 2n =14 t I~ ·F~Ie.1~l~ -ij 1Qf~'11'Etft~ 2n = 12t I ~
~ ~ ~.~ l{(112:?lt<?Ify;S -ij101~'11ctr mr~m?
(A) 13 (8) 24
(C)28 (0)26

76. Emasculation means:
(A) Artificial pollination
(8) Removal ofanthers before dehiscence
(C) Removal of stigma before fertilization
(0) Pollination between flowers of the plant
~~'Pfl.8~HCfiT ~ t :
(A) ~11WfUT

(8) ~ ~ ~ q,(IJICflltfi CfiT ~ ~

(C) ~'.~~ Cf[dft?ln,~~"CfiBT

(0) -q'fil<t ~ <t ~ q\(Wll

',::-:~':.:'h".'

77. Most of our crop plants are:
(A) Autopolyplolds ' ~";'

(C) Allopolyploids
m-3lf~~f:
(A) 31TilqTct1l{1T$'&:,B
(C) t&fl qTMll{1~&:,B

(8) Haploids
(0) Heteroplolds

(8) ~~I~&:,B
(0) ~2:il~&:,B

78. Polyploidy is induceo by :

(A) GA3
~C) IAA
G4§)1fu1(11 ~ M t :.
(A) f.,jf'iCf<?1Cfl~-3 IDU (8) Cfllf<.'k4f~'1 IDU
(C) ~ Qj:ilflCfl ~ IDU (0) CflI~~fG'1 IDU

(8) Colchicine
(0) Kinetin

c,

!-,

/

I



79. Sericulture is :
(A) Culture of silk worms
(C) Culture of ants
~fICflrl<~ % :
(A) W11 <t ~ <t W:f~ q;l

. (C) ~ <t W:f~ q;l

(8) Culture of honeybees
(0) Culture of termites

(8) l1\jlOifCf@ltl<t ~$:r q;l
(0) ~ <t W:J.$t ,q:i'r

80. An insect helping in pollination is :
(A) Bombyx mori
(C) Musca nebulo
11tfTTUT -B ~ ~ CTR1T ~ ~ :

(A) arTfkfCffi 1irft
(C) ~~

(8) Apis dorsete
(0) Drosophila melanogaster

(8) rifim~
(0) ;rjJmfih<'1l 4&;;;)#)&<

81. Animals devoid of respiratory, excretory and circulatory organs are:
(A) Tapeworms (8) Threadworms
(C) Live Fluke (0) Sponges
~ I l1(:1-~ ~ -qft'W=fUT- ..~ ~ ~ ~ ~ :

(A) 2qq14~ (8) ~:SqI4~

(C) fflCf ~ (0) fCfT;:;3)~

82. Structure common between earthworm and cockroach is ~
(A) Cocoon (8) Dorsal nerve cord
(C) Ventral nerve cord (0) Ommatidia
~ ~ fdt1't/~l <t ~ ~ ~ ~ :
(A) ~ (8) ~ ¥f Cfi'fi

(C) f.r;=.rffi ¥f Cfi'fi (0) on !Ok') fs If I

83. Inwhich of the following animals, blood does not transport oxygen?
(A) Cockroach (8) Frog
(C) Crow (0) Tortoise
~ -B ~ ~ ~ -B 3"lTcR:iI\31'i ~ mu ~ ~ -B ~ ~ ~ ~ \lfT7it ~ ?
(A) ~-B (8) ~-B
(C) ~-B (D) ~-q

; ··A~et
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84. Which of the followirig'IGAR institute is not situated in Madhya Pradesh (M.P.) ?

(A) Central lnstttuta pf Agricultural Engineering

(8) NRG on Soyabean

(C) NRG for Weed Science

(0) NRC for Sorghum

Frt:rJ.q"B ~ ~ ~ ~~ (~.m.~.am.) ~ 'il~'~:-q,,~' ~ t ?

(A) ~ ~ aTI~<{jf?lChl ~

(8) u$ ~ljl~1 ~~ cR
(G) u$ (§HQi;!C:m:~ ~~ cR:
(0) u$"GqR ~~ cR:

85. The first Aqrlcultura] University of India is :

(A) Punjab Agricultural University Ludhiana

(8) Jawahar Lal Agricultural University Jabalpur

(C) G8 Pant University of Agriculture and Technology Pant Nagar

(0) None of these

'qffif CfiT ~ ~ fC4ltqfqi~m.1lj t :
(A) ~~ fC4ltqfC4~It1lj, W~
(8) ~ ~ ~ ~.~., \ijiIR19)<

(C) ~~~'tRf~~.fcf.,~

(0) ~"B~m,

86. Yellow Revolution is related to which ?

(A) Food grains

(C) Fishery
ti Sfiifu~· ~ t ?

(A) ~~

(C) "1001Q 1<.11

(8) Oil seeds

(0) Poultry

(8) Fc:"1c.1t;f\~

(0) JjlffQIc.11
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87. In India, how much contribute agriculture sector in GDP (In last 2-3 years)?
(A) 5% (B) 35%
(C) 12 -15% (0) 20%
'Iffia if ~ ~ ~ (GOP) if ~ (fit ~ (f1:rOO 2-3 q1if if) ~ t ?
(A) 5~ (B) 35~
(C) 12-15~ (0) 20~

88. Which of the following plant nutrient is helpful in the synthesis of oil and amino
acids?
(A) Calcium (B) Sulphur
(C) Zinc (0) Boron /
f.:p::;f if it ~ ~ d"fCf ~ q ~ ~ ~ f.r::ITuT if ft~14Cfl men t ?
(A) ~f~4q (B) ~
(C) ~ (0) ~

89. Which of the following hormones is also act as weedicide ?
(A) 2, 4-0 (B) NAA
(C) IAA (0) IBA
f.:p::;f if it ~",qClem] Cfil~ CfiB'qwrr mBR ~ t ?
(A) 2, 4-m (B) "tff.~.~.
(C) ~.~.~. (0) ~:~.~.

90. The amount of Sulphur in SSP is :
(A) 10.2% (B) 9.2%
(C) 14.8% (0) 11.8%
fWR;y WR q;r%2 if ~ ~ ~ men t ?
(A) 10.2% (B) 9.2%
(C) 14.8% (0) 11.8%

91. The right time for turning or covering the crop for preparing green manure is :
(A) Just after germination of crop
(B) At time of flowering when leaves are juicy and tender
(C) At time pod and seed formation
(0) After drying of leaves
mT"&re:~~~Cfil~'4T~q;r~~t :
(A) -cftil ~ m
(B) ~~~~~~~~cr~m
(C) ~~q-q:;ffi~~~

(0) ~~~~~
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92. Water isa sourc~i~;Wbich oUhe foll.~wing _ients?
(A) P& K '\<12:1', (8) H & 0
(C) N & P "fr'!f,jfJ' (0), .AII onhe$~iq "
~,-q' -ft '\iR9' ~ ~M:'CfiT ~ ~ ? :j"',',,;,',,

(A) '+lTwiRfi i~ 41~~14q (B)$I~~~1 ~ 3iTcffl1#tii:
(d»·11~~\lI1~ '+lTMHi (0) ir'~m

93. Exat;npleofperemal weel:is : .
(A) Kans
(C) Chenopodium:;
CS4~t>ff4(§I{Qac1R CfiTdGI~{OI~:

(A) Cfiffi

(C) q~3JT

(8) Hirankhuri
(0) Argemone

(8) ftH1~1
(0) fi\"4111~n

94. Which of the ,following crop needs lesser irrigationJwgt~r ?
(A) Wheat! (S)Gram
(C) Suqarcane (0) Potato
f.p:;f' -q ~ ~ ~. CfiTCfil11Wft ctt 3flq~4q)dl mm.~?
(A) Ttt (8) "'CRT

(C) l'FJT (0) ~

95. Sorghum belpngs to which family?
(A) Bracicaceae
(C) Palmae
\iqR~~.CfiT~~ ?
'(A) ~r~F.fi41
(C) -qp:ft

(8) Liliaceae
(0) GramineaeJPoaceae

(8) r~r1~41
(0) ~~

i., ! . . ... -:,;~. -:.
96. Rhizobium is!used for treating the seeds of :

(A)Oilseeqs (BY Pulses
(C) Grains", (0) Fibre crops
{1~\JflrCS44'i~fi,CfiT"dY¥IIRd~ ••~'·.~~~!\~;3lfID~+?;~,

(A) 'm(1$4l ~ (8) ~ ~
(C) ~ cnz;ft ~ (0) W <m'iT ~

1•.91
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97. Which of the following is a suitable example of intercropping?
(A) Maize + Blackgram (B) Cotton + Maize
(C) Rice + Greengram (0) Chilli + Cowpea
a:RR "tfim1 (Intercropping) Cfi1 f.:p:;r "B ~ onT.mT ~ ~ ~ ?
(A) ~ + ~ (B) Cfi1m1 + ~
(C) ~ + 1fT (0) fl:rer + ~

98. Finger leaf deformity in cotton is caused due to residual eff~ctof which chemical?
(A) Fluchloralin (B) Oxyflourfen
(C) 2, 4-0 (0) Isoproturon
~ "B 3i~t1lj/",1 "tRft ~ ~ "{fIT<R ~ ~ ~ CfiRUT mm· .~. ?
(A) LRtCR11):f~1 (B) 3iTcru'1LR11'lch 1

(C) 2,4-m (0) 3i1$fll~I<-~<T1

99. The length of metre chain is :
(A) 10 metres
(C) 30 metres
~~CfiT~mm~:
(A) 10~
(C) 30~

(B) 66 feet
(0) 100 feet

(B) 66 m
(0) 100m

100. The total links in revenue chain are:
(A) 10
(C) 15
~~"B~qft~mm~ :
(A) 10
(C) 15

(B) 20
(0) 16

(B) 20
(0) 16

101. Which one of the following herbicide is used for controlling Falaris minor in wheat
crop?
(A) Butachlor (B) Isoproturon
(C) 2, 4-0 (0) All of these
f.:p:;r"B ~ mm ~§WH1qR11~ft if{~ chc1n'A ~~ fl"P5Iol"B ~ mm ~ ?
(A) @{clCR1I'l (B) 3i1$ffl~"'I<-~<T1

(C) 2, 4-0 (0) ~ ~m

"



104. For transplanting one hectare area of paddy how much area is sufficient for raising
nursery by 'Dapoq method' ?
(A) 20--30 m2 (8) 50-60 m2

(C) 100-150 m2 (0) 175-200 m2

'tlA CfiT ~ ~ ~ if ~ ~ I~ fqf~'&m ";:ffiit ifqiJr Cfil ~ ~ ~ ?
(A) 20-30 q,flOf1Z{ (8) 50-60 Q,fYl2{

(C) 100-150 Q,flOf12{ (0) 175-200 Q,fYl2{

102. The sowing time of $qvabean is :
(A) , June-July
(C) January-February,
ff1'41&411 Cfil ~ ~ t" :
(A) ~-~
(C) ~-~

(8) March-April
(0) October-November

(8) ~-~
(0) ~-~

103. Tikka disease is related to which crop?
(A) Carrot
(C) Groundnut
~-urrfcfiB~~~t" ?
(A) ~
(C) {'I4lt'fl

(8) Greengram
(0) Sugarcane

(8) ~
(0) TAT

105. Lime is used for reclamation of which type of soils?
(A) Acidic (8) Sodic
(C) Neutral (0) Saline
~ fcfiB~ CfiT ~ ~~ ~ q;p:r 3m=rT t" ?
(A) ~
(C) 31;1'811

(8) ~
(0) t'lQOn'4

106. Parasitoide for biological control is :
(A) Trichogramma
(C) Chrysoperla
~ f.:j '4 '"?t 01 ~ q {\l1l eft CfiT2 t" :
(A) ?/$q?jYI1/1

(C) ~/$mqH1}

(8) Trichoderma
(0) Coccinella species

(8) ?/$cn7:S 'I. 1/1

(D)'--~H(11 f1i''iftl \31
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107. Deep ploughing in groundnut field should not be done because it:
(A) Delay hc;lrves~ing (B) Reduces germination
(C) Makes harvesting difficult (D) lncreasesjerrnites infestation
1!14'lMl"*m~-rrro~~~~,~~: .'
(A) ~~~~ (B) ~Cf)11~

(C) ~ ~ ~ 31RT (D) ~ CfiT an~ ~ ~
··'8r,f.

108. 'Karnal bunt' is a disease of which crop?
(A) Maize (8)
(C) Rice (D)
'~~'~1:fiW1Cfi1~~ ?
(A) ~
(C) ~

Wheat
Potato..,'" qCF'

(B) Tr{
(D) amt

109. The fruit of mustard is known as:
(A) Pod
(C) Berry
mm ~ 1fiC1 q';) ~ ~ :
(A) -qTg

(C) ~

(B) Siliqua
(D) Rhizome.;' '. j,~ '0 ._,.,

(B) fuf<19131T
(D) ~

r, +
(;'~'.. ; .."'

(8) 20-30%
(D) 40-50%

(B) 20-30~
(D) 40-50'~

110. Oil content in gro~n9nut is :
t', l ,~

(A) 10-20%
(C) 15-25% "
1!14'lMl~ W1w:rr ~ ~ :'
(A) 10-20~
(C) 15-25~

111. The main guard pfJJVorldTrade is :
(A) World Bank
(C) GATT
3H1<YD?14 ~ ~,~)lQU~ ;

(A) ~~. ,_,~. .

~~...(g) ...~(3.,L\I!2_..__'..,:.
!.'- §

A-Set

None of these .
(B) International FinanceOrganization
(0)

(B) 31'<1<YG?ll{ fern f.rm .'
(D) ~-BcnW~



112. The period for long-term loan is :
(A) 1year
(C) 5 years
Glsiq:;lffi1 ~ qft ~'jilm t :
(A) 1 qt;f

(C) 5 qt;f

(B) 2 years
(D) More than 5 years

(B) 2 qt;f

(D) 5 qt;f "Ba:IT~

113. Bronzing in guava is associated with defici~ncy of :
(A) Zinc (B) Manganese
(C) Magnesium (D) Copper
~ -ij ~ f~i~nf~qft ~ "B mm t ?
(A) ~

(C) ~'~fkllf'"
(B) ~

(D) ~

114. Which of the following is hybrid of Mango?
(A) Oasheri (B)
(C) Neelam (D)
f.p:;:J -ij ~ 3lT11 qftm fcfii£l"t :
(A) Gmtt
(C) ~

Malika
Langra

(B) ~

(D) ~

115. Variety of onion is most suitable for Kharif sowing in Northern India:
(A) N-53 (B) Pusa Ratnar
(C) Hisar-2 (D) Patna Red
~ cqmr q1.~ Pd?ff -ij ~ Cfil~-ij ~ \ifA cm-it ~ ~ t :
(A) ~-53 (8) ~ «FIR
(C) mm-2 ' (D) ~~

116. Seed rate of hybrid tomato is:
(A) 75-100 g/ha
(C) 25(}-350 g/ha
~~Cfil~t:

(A) 75-1 00"IDll~
(C) 250-350 mq/~

(B) 150-200 g/ha
(D) 400-450 g/ha

(8) 1S(}-200mit~
(D) 4Q(}-4S0lfll{~
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117. The plant nutrient improves quality of fruit is :
(A) Nitrogen (8) Phosphorus
(C) Potash (0) Zinc
i:nffi qft ~ ~ ClTffi ~ -mer t- :
(A) ~

(C) ~
(8) lhlMHi

(0) *
118. Browning of cauliflower is due to the deficiency of :

(A) Zn (8) 8
(C) Mo (0) Cu
~'l.ft if ~ (~13f;ill) fCflftChl cnr:it"B men t- ?

(A) * (8) ~
(C) q'ff(1&g1'4 (0) Cliftn:

119. Which of the following plants is propagated through cutting?
(A) Rose (8) Grapes
(C) Fig (0) All of these
f.p::;:J if "B ~ -qrm CfiT ~ ~ IDU fcfi"lIT \jffffi t- ?

(A) ~ (8) ~
(C) anm (0) ~ ~'l.ft

120. Puffiness is a physiological disorder of which vegetable?
(A) Carrot (8) 8rinjal
(C) Okra (0) Tomato
q cnl ~ft fcnB "fIWft if ~ fcfc!m: % ?
(A) ~
(G) f'lRT

(8) ~
(0) ~

121. Cooraghoneydew is a variety of :
(A) Papaya
(C) Mango
"tilf~11~1~ ~ % :
(A) ~qft
(C) 3Wf qft

(8) Guava
(D) Mandarin

(8) ~qft
(D) mm qft



.
122. Which one of the foUawingis suitable~,y~ternpf irrigqting fruit plants underHmi~~,

water supply?

(A) Flood system (B) Basin system

(C) Ring basin system (0) Pitcher system,
~ ~ ~ qft W:rfu -q ~ -q ~ ~ qft ~ fcIT~1R'r CIa:TI *~ ~ ~?

(A) ~ ~ fcIT~ (B) I!W1T M~

123. Banana belongs to which family?

(A) Anacardiaceae

(C) Musaceae

~~~-qamn~ ?

(A) lfIlCfllfillfil

(C) ~

(B) Caricaceae

(0) Rutaceae

(B) ~fl~f1'
(0) ~

124. Whiehcrop is affected by Tristeza virus?

(A) Banana

(C) Citrus fruits
~ ~ ~"STmfcrnmm- ~ ~ ?
(A) Cf1ffi

(C) ~"5f\fflfu * 1R'r

(B) Apple

(0) Mango
:,);i...~)

(B) ~

(0) aw:r

125. Which of the two flowers are of not white colour?

(A) Pansy and Linum (B) Hollyhoc~j,QdSweet P~a

(C) Aster and Clarkia (0) Cosmos and Chrysanthemum

~frT*Gl~~~:~:
(A) -tAft ~ ~ (B) ~I~l~ q~ 'tfi
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126. Which one of the following is not a suitable fruit for Jelly making ?

(A) Papaya (8) Wood apple

(C) Guava (0) Mango

~~~~~~(~)~~~~"#f~ ?
" . (A) - ~ (8) ~~

(C) ~ (0) awl

127. Which one of the following is not a physical method offoodpreservation?

(A) Refrigeration. (8) Freezing

(C) Fermentation (0) Sterilization

f1lOO1f<.1f(§ld~ ~ ~ ~ sn:i%{OI CfiT~ m'I:T "%7 ~ ?,

(A) ~flC1<:'11

(C) fcfiucR

(8) 3iq~fld<.11

(0) f1'1I4hMOI

128. Pusa Majesty is a variety of : s •
;'

(A) Mango (8) Guava

(C) Papaya (0) None of these

~~~~~: f"

(A) awlCfiT (8) ~CfiT

(C) ~CfiT (0) ~~~~

129. Which one of the-following can be used for judging the end point of Jam?

(A) Sheet test (8) TSS test

(C) Temperature test (0) All of these

~ 'tJTCfi (~) CfiT affi;q ~ ~ ~ ~ ~ ~ ~~. fq;~€f)J~"i!fi"{ ~t-;?

(A) 'We -qft~ (8) ~ Y;<.11~fI(111GT~-qft~

(C) ~ -qft~ (0) it ~~

us.x
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130. The amount of :;Ui~lsqtJash is :
I

(A) 55%

(C) 25%

~ -q ~~P;fft l=ffiTTmar ~ :~
(A) 55~

(C) 25~

(B) 60%

(0) 40%

(B) 60~

(0) 40 1ffifm

131. Which of the followirlg::.ttees is not associated with Lord Buddha ?

(A) Neem (B) Ashok

(C) Pipal (0) Banyan

~-ij~~~~~~~s3TI ~ ~ ?

(A) ";ftl:t (8) ~

(C) ~ (0) ~

132. Ranking of India in fruit and vegetable production is :

(A) First

(C) Third

'qffifq;r~~~~-ij~~ :

(A) ~

(C) mmr

(B) Second

(0) Fourth

(8) ~

(0) ~

133. Number of Agricultural Universities in Madhya Pradesh

W O~ (~ Two

(C) Three

~ 1$T -q ~ ~ fCj~<:4f~til~lf~ ?

(A) ~

(C) ciR

(0) Four

(B) Gl

(0) "'C{R
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134. For getting maximum production from Indian livestock, biotechnology should be used
in the field of :

(A) Animal Nutrition (8) Genetics

(C) Reproduction (O) All of these

~ ~~i B an~ ~ ~ ~ cfl.m~ s11~~If1I':hlCfiT~ ~ a)?r if ~ ~
~?

(A) ~~

(C) ~

(B) 3i1j)ci~ICfll

(0) ~~~

135. The region between 2 horns of cow is called :

(A) Jowl (8) Poll

(C) Muzzle (O) Crest of head

1'fr:T cfl ~ mcfl ~ CfiT'lWT <:fj~R1kllt :
(A) ~

(C) ?{~

(B) ~

(0) 1m CfiTfirm

136. True stomach of cattle is called:

(A) Abomasum

(C) Rumen

1;1 ~aTI CfiTcHfdfct<:fj ~ t :

(A) ~p.f ~ ( q:~il\J)lOi)
(C) ~~~(~)

(B) Omasum

(0) Reticulum

(B) ~~(~)

(0) ~ ~ Ofcocnt.1lOi)

137. Bulbourethral gland is also known as:

(A) Prostate gland

(C) Cowper gland .

'S4~1{~m~CfiT~~t :

(A) ~m2T

(C) CfiWR m2T

(B) Seminal vesicle

(O) None of these

(8) l@i1~llj

(0) ~BCFiW~
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138. Mammary glands ar~modification of which of the following glands:
(A) Sebaceous
(B) Sweat
(C) Oil
(0) None of these /
~m~~-ij.~~m~CfiT (i!\qHHol t ?
(A) c:rmw.T
(B) *
(C) iffi
(0) ~ ~ ~ -::r@

139. Which of the following is crossbred cow?
(A) Ayreshire (B)
(C) Kenkatha (0)
~-ij~T[P1Cfftm~t :

(A) 3"lPH~1I4{

(C) ~2IT

Khillari
Karan Fries

(B) fuRvJRT
(0) tR1~

140. Copper colored body is characteristics of which buffalo breed?
(A) Bhadawari (B) Jaffarabadi
(C) Nagpuri (0) Surti
~ Cfft~ ~ CfiTmR qrn -{7J CfiTmm t ?

(A) ~

(C) ~

141. The biggest breed of goat in India is:
(A) Barbari
(C) Black Bengal
'qffif -ij ~ Cfft -mm ~ ~ t :
(A) ~

(C) CfiTffi ~

(B) 'ilICfl<Ici4I~l

(0) wm

(B) Beetal
(0) Jamunapari

(B) ~

(0) 'iI!i11Qlil

A-Set t3/23GRA-:'Rage-41
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142. Gestation period of buffaloes is :

(A) 8months 8 days

(C) 10 months 10 days

;roT 'cnpr~ mm ~ :
(A) 8 +nQ8~

(C) 10~10~

(8) 9 months9:days

(0) 11 rnonths'f t days

(8) 9+nQ9·~

(0) 11 +nQ11~

143. Productive life of sheep is :

(A) 3 years (8) 5 years

(C) 7 years (0) 9 years

~ crft dNlt:Octlarrg; ~ :

(A) 3crl (8) 5~

(C) 7crl (0) 9~

144. In commercial dairy farms weaning shoukrbe practised: .

(A) Just after birth (8) 30 days.after birth

(C) 3 weeks after birth (0) 3 months after birth

OlllqfllP~ctlm1:fillf -q ~ 0fiT -qf (7llGl')~ ~."dl} -q am ~ ~ ~ ?

(A) ~~~~ (8) ~~30~~

(C) ~~3~~ (0) ~~3+nQ~

145. To evolve a pureline in an animal which is the breedi[\g method to be used?

(A) Criss crossing (8) Out crossing

(C) Inbreeding (0) None of these

~-q~~~TTfqctlfBct~~m~~m~~ ?

(A) ~~ (8) ~:~

(C) 3Rt:~(P) ~.~~~
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146. According to law of.dominance:

(A) Characters ~r9(controlled by factors

(8) Factor~ occ4r;i~pairs

(C) Both (A),and (B)

(0) None of these F<

~~~~~:
','I .

(A) ~15UT ~ mu H<if"d ~ f
(8) ~·~-ijmf

(C) (A) ~ (B) ~.

(0) ~ ~ CFiW -;;m

147. Efficiency of selection is high in :

(A) Index method

(B) Independent culling level selection

(C) Tandem selection

(0) Allhavesame

CRUT Cfll &1lrnT .~ ~f: .
I

(A) ~-qCfliCfl ~"1-ij

(B) ~ PH4){,1'"1 ~.~ -ij

(C) ~. fcrf"1 (3ijsfifqcf; ~) -ij

(0) "B.qr -ij "B11R

148. Bullocks of which of the following breed of cattle are famous for Sawaichal ?

(A) Nimari (B) Kankrej

(C) Malwi (0) Rathi

~ -ij 'B TfFif Cfll ~ 1'@ ~~ ;gc;II~'€jR1q1'm ~ f ? Fe.

(A) ~ (8) Cfli~\3I

(C) ~ (0) uat
'A-Set
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149. In commercial dairy farming following arrangement of cows in shed should be
preferred:

(A) Single row (8) Double row face to face system

(C) Double row tail to tail system (0) Anyone of these

04IQfllflfCfl ~ 'fiTlf -ij ~ cn1m -ij 04Q~ fc!?B" ~ m- ~ ?

(8) ~~aTI~~

(0) ~~~~

150. In hotter parts of country long axis of animal house should run:

(A) East to West (8) North to South

(C) South to East (0) North to East

~ ~ TPf 'iWif -ij ~ 3WUfr <:fiT ~ 3l1ld ~ ~ :

(A) ~~~ (8) ~~~~

(C) ~&fOl ~ ~ (D) ~ -it ~

151. First few streams of milk should not be mixed with rest of milk because:

(A) It contains dust and dirt (8) It contains highest no. of bacteria

(C) It is high in temperature (0) It contains off flavour

~~ cn1 ~ ~ cfit ~ ~ ~~ -ij f1:ffiRT ~ ~ ~ :

(A) ~ ~ 'Q!'i TfGrft mID t- (8) ~ w:ll'l-Tcfi"ff&rr -ij ~ ~ f
(C) ~ ~ aTI'l-Tcfimmt- (0) ~ ~ mm t-

152. The ideal interval between 2 milkings should be :

(A) 9 hours (8) 10 hours

(C) 12 hours (D) 15 hours

eft ~ 00 ~ ~ ~ 3Mfm1 'QFrr~ :
(A) 9~

(C) 12 ~

(8) 10 ~

(0) 15 ~
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153. Milk is deficient in which vitamin ?

(A) Vitamin A

(C) Vitamin 82
~~ -q ~ fq(!If'"i'1 CfiT~ mm ~ ?

(A) fq(!If"1'1"Q;

(C) fq(!lf"1'1 Gft-2

(B) Vitamin B1

(0) Vitamin C

(B) ~(!lfi:I'i Gft-1
(0) fq(!lf"1'i m

154. Viscosity of milk is due to which constituent?

(A) Albumin (B) Globulin

(C) Casein

~~ CfiT~ fcffi:r ~ ~ q;wrr mm ~ ?

(A) Q~f"1'i

(C) ~

(0) Phospholipid

(B) j~ICSI9>fc:1'i

(0) Cfilwi)fef"l'5

155. The following change is found in mastitis affected cow's milk:
(A) Reduction in fat
(B) Reduction in solids not fat

(C) Increase in chloride content
(0) All of these
m UTT ~ ~ ~ ~ ~~ -q f.rs:;r qRc:Hf'i "tfTlIT ~ ~ :

(A) qm -q Cfilfi

(8) qm m.m -am -q ~
(C) #11<1$'5 CfiT31f~

(0) ~~.qr

156. Specific gravity of milk is lowered by :
(A) Addition of water

(C) Both (A) & (8)
~~ CfiTfqfut;(! ~ (~) q;11 mm ~ :
(A) 1:JAl fi:ffiR ~

(C) GRf (A) (f~ (8) ~

(8) Addition of cream
(0) None of these



157. The pH of fresh cow milk varies from:
(A) 5'2-5-4
(C) 6,4-6,6
7W::fC~' ~ ~'tPfil-cfi -~. men% :
(A) 5,2-5,4
(C) 6-4-6'6

(8) 5·8-6·0
(0) 7·0-7·2

(8) 5·8-6·0
(0) 7,0-7,2

158. The most common Kharif fodder among non-leguminous fodders is :
(A) Barley (B) Jowar
(C) Oat (0) Wheat
~G(1Ql1 ~ it OO'~ SfctfMd ~ CfiT -:qro % :
(A) -:m (8) ~

(C) ~ (0) -it{
r

159. Concentrates are those livestock feeds which contain:
(A) less than 18%crude fibre
(B) more than 60% TON
(C) Both (A) and (B)
(0) more than 18%crude protein
~~it-r.u~%~ment:
(A) 18~ it "CfiJ:f~ =tw
(B) 60~italf~~~~~
(C) (A) (l2lT (8) ~

(0) 18~italf~~~

160. The pH of best quality silage is :
(A) 3·2 -3,6
(C) 4·2-4·6

(8) 3,8-4,2
(0) 4,6-5,0

~ Wso:rrcrnr crrffi =81$8'J1 CfiT -cfi -~. men% :
(A) 3·2 -3,6 (B) 3·8 -4·2

(C) 4·2 -4·6 (0) 4'6 -5,0

'A~Set



161. For every 2 kg. milk produced by the buffalo, the amount of concentrate given should
be:
(A) 0·75 kg (8) 1·00 kg
(C) 1·25 kg (0) 0'50 kg
~ if ~ GT fCB<?1I3A14~ ~ ~ ~ ~ CfIllW)1lGl \1Wfi ~ :
(A) 0·75 fcnm (8) 1·00 fcnm
(C) 1·25 fcnm (0) 0-50 fcfim

162. Number of temporary teeth in cow is :
(A) 16
(C) 32
1fIGJif~~CfIl-mmt :

(A) 16
(C) 32

(8) 28
(0) 20

(8) 28
(0) 20

163. If the number of rings on horn of cow are 5, what winbe the approximate age of cow?
(A) 5 years (6) 6 years
(C) 7 years (D) 8 years
~ 1fIGJ~ ~ ~ 5~ ~m 1"JFJqft ~ tilTffll ~ ~ ?
(A) 5 Cf6f (8) 6 ~

(C) 7CJti (0) 8~

164. Characteristics of good cow:
(A) Angular form
(8) Well developed and well placed udder and teats
(C) Large size
(0) All of these
~ TfTlf ~ ~1ij"OJ ~ :

(A) Gfll0llf"'lCfl ~

(8) tifC1Cflr~d "Q,Cf ~ ~ 1:R' 3F-R ~ ?:R

(C) ~~

(0) -q~



.rr:

165~Modern cream separators cream is separated by :

(A) Centrifugal force

(B) Gravity

(C) Both (A) and (B)

(0) None of these

;m~~~~~-q~ am-rrmID%:
(A) 3iqc:fi~llf ~ it
(8) ~it
(C) (A) ~ (8) <WIT

(0) ~it~~

166. Which of the following is demerit of modern metal butter churns?

(A) Difficult to clean (8) Steam sterilization not possible

(C) Low heat insulating capacity (D) Moisture and salt control inaccurate

:m~ mg CI"ffi "J:f.R§R l:f~ q;- '*'r -qf.Ji:;f cpft mID% :
(A) tfT'l; m -q CjPjf011~ (8) 'qJtl it f.f:~iil401 ~cqq ~

(C) Cfi1l ~m 8Jl1ffi (D) -;:p:ft ~ ~ 1:R f.:r:Bruy ~ -m

167. Bulk of ghee in Rural condition is produced by :

(A) Creamery butter method

(8) Desi method

(C) Direct cream method

(D) None of these

IDlfTur ~ -q 3if~ eft ~ mm % :
(A) Sb149)Ck1~ it
(8) mfc:rf~it
(C) m~~it
(D) ~ it ~ -;;@ I '
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168. Which ofthe fofloWtng milk cream is churned to butter easily?

(A) Buffalo milk cream (8) Cow milk cream

(C) She-goat milk cream (D) She-camel milk cream

f.r:1lf~~~tTCfiT~~~~~~t ?

(A) ;m~~tT~~ (B) ~~.~~~~

(C) ~ ~ ~tTCfiT~ (0) ~ ~ ~tT ctt-Sfitq

169. Normal body temperature of cow is:

(A) 38·O-39·3°C

(C) 35·2-35·8°C

lJP.J qrr ~ -mR ('ff'q'11R men t :
(A) 38·0-39·3°~.

(C) 35·2-35·8° ~.

(8) 38·8-39·6°C

(0) 40·6-41·3°C

(8) 38·8-39·6° ~.

(D) 40·6-41·3° ~.

170. Lameness, high fever and swelling over s'roulders and thighs are symptoms of which
disease?

/

(A) . Anthrax (B) Black Quarter

(C) Foot and mouth disease (D) Haemorrhagic septicemia

c-iil'$IQ1, ~ ~ o?TT cim ~ ~ ~ ~ ~ ~ ~ ~8JUT ~ ?

(A) fTR;it Wr (8) ~ ~

(C) ~(QCfiI ~Wr (0) ~

171. Which of the following diseases is known as cattle plaque.?

(A) Anthrax (B) Foot and Mouth Disease

(C) Rinderpest

f.r:1-ij ~ ~ ~ q;y ~ "Y1{l ~ t ?
(A) fTR;it WI

(C) Q~p'fl(lI

(D) Piroplasmosis

(B) ~qCfiI ~ WI

(D) QI~il'"<1I~J{jf~f1 .
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172. For the prevention of which of the following diseases, o,U
j
~djuvant vaccine is given?

(A) Anthrax i)I'

(B) Black Quarter

(C) Haemorrhagic septicemia

(0) All of these

f.p:;f if ~ fcfiB -urr ~ ~ %u ~ ~¥~ itcf;r ww:rr \iffflT~\')j

(A) ilwiT -urr

(B) ~~

(C) ~

f.'.r;

-t·)

173. Moisture content in milk powder should not be more tr~:

(A) 5 per cent

(B) 8 per cent

(C) 10 per cent

(0) 12 per cent

~~ ~ if ~ Cfft 1lI?TT f.:n::;:r'~ aTI~ -.m ~ ~ :
(A) 5~

, , /

(B) 8~

(C) 10~

(0) 12~

I

174. Scientific poultry k~~ping in India was initiated bY:;'i.~

(A) Christians (B) Hindus

(C) Muslims (0) Sikhs

cqmJ if ~~1f1q;)~ ~ ~ 1lTffi Cfft ~~ Cfft ~ :

(A) ~~ (B) ~~~

(C) !i·8{1'"i l1")j ~ (0) fucR§if ~

:"j
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175. Major constraints'of paultry farming inlndia are :

(A) Non-availability of quality chicks

(8) Shortage of quality feed

(C) Unorganized marketing

(0) All of these

~-ij lj'ffql(11-ij~~~:
I

(A) ~~Cf'Wr~qft~

(8) ~olq"'11<:R1 ~ qft 'Cfi1=IT

(C) ~ fcr:ruR cnT 31'qJq

(0) ~"Bm
_._ J

176. Cornish breed of chic1{~nis :

(A) Egg type

(8) Meat type

(C) Oual purpose

(0) Used for entertainment

~ qft q;'fffiy ~ t :
(A) 31UST ~ crrffi"
(8) 11ffi~crrffi"
(C) fGCfl I \J\1

(0) 411{\il1 %TI ~

177. Optimum weight of chicken egg, to be used tor hatching~hould be:
.•I;*'(A) 40-45 g (8) 45-50 g

(C) 50-55 9 (0) 55-60 g
~ ~ ffiit ~ ~ ~ ~ ctiT of,=.m 'qR m::rr ~ :

(A) 40-45 "!I'm . ; (8) 45-50 "!I'm

(C) 5D-55"!1'm
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(A) 6~

(8) 9~

(C) 12~ /, '

(0) 15~

178. For proper ventilation in open sided pouitryhousestea' width of house should not ,
exceed:

(A) 6 metres

(8) 9 metres

(C) 12 metres
: ! ~ 1

(0) 15 metres

w-ft WR1CIffi ~ 3Wffi1 ~ ~ cmw:R ( ~'"c18~11)%TI 3Wffi1 Cfft ~ f.fJ:;:r -B ~ ~ ~
~:

179. Layer chicks are of the age:

(A) 0-3 weeks

(8) 0-6 weeks

(C) 0-4 weeks

(0) 0-8 weeks

~~~~~~f?
(A) 0-3~~

(8) 0-6~~
(C) 0-4 ~Cfc1)

(0) 0-8 ~Cfc1)

180. Crude protein requirement of broiler finisher as compared to broiler starter is :

(A) More (8) Less

(C) Same (0) More or less as per the weather
~ ~ Cfft ~ ~ ~ FY'iRllR Cfft ~ ~ Cfft 31lq~:qCfldl mm- ~!, ,

(A) ~ (8) (fill }

(C) ~ (D) -qffi-q ~ ~ cnq GJT ~
,. ",. _ '_ "" ", ." "~.~'>', '~'- .. ' '_','fP,~,.,-,. '''' ~, "~. _', _ .• _. ''''''', ,.. .
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181. Bacillarywhite dian:h9&a in poultry is caused by:
(A) Bacteria
(8) Coccidia
(C) Mycoplasma
(D) Virus
~ ~ ~ ~. qftmmu f4im) mcrr ~ ?
(A) ~

(B) CfiTCRilf-S41

(C) J<f1~iflllO(1l~J<f1

(D) ~

182. Caecal Coccidiosis in poultry is caused by :
(A) Eimeria tenella
(8) Mycoplasma gallinarum
(C) Toxoplasma
(D) Mycoplasma synoviae
~ ~ ~. CfiT#fi1f$#\f~Ht fefim) mffi't ?
(A) ;;}i1$GR41~

(8) J<f1~iflllO(1l?"i1 ~<:'fl~Pf
(C) GTcffil 1O(11?"i1
(D) J<f1$iflllO(1l?"'11 fU$;f)ci\

183. Wet litter in poultry shed should be replaced by dry Jitterto prevent:
(A) Caking
(B) Ammonical odour
(C) Oiseaseoccurreoce
(D) All of these
~ m~f.p:;f ~ •.~ ~ mRt. f~'31C11·q;) ~ f~'3lq1 ~ ~ t-=rr ~ :
(A) f~01q1 cfi ~ ~
(8) ~qft~. -r- c

(C) ftrIT CfiT ~

(D) ~ mft- .
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186. A liquid takes 5 minutes in cooling from 80°0 to 50°C. 'il1etnperature of the sorroundings
IS20°0, then how long will it take in cooling from 60°C to 300G?

(A) 5 minutes (B) 7 minutes

(G) 6 minutes (0) 9 minutes
~ ~ "CfiT 80°0 'B 50°0 W.Ji 60GT ~ ~ 5 fl:J;rcC¥ffi t I ~ ~ CfiTmq 200Gtm ~ 600G
~ .300G W.Ji 60GT ~ "it FmRT ~ ~ ?
(A) 5fi:Ac
(0) 6 fl:J;rc

(B) 7 fi:Ac

(0) 9 fi:Ac

184. A block weights 15 N in air, 12 N. in water and 13 N in 'another liquid, then relative
f j', i

density of liquid is :

(A) 3/2 (B) 5

~ m (~ 1~
~~~~CfiT ~ 15 ~%, ~-q 12 ~(f~~ ~~jf.13 ~%, ~~CfiT amfa:TCfi, . )

~%: -"
(A) 3/2 (B) 5,

(0) 213 (0) 1/5

185. This is not an unit of pressure:

(A) Torr
(C) Newton metre-3

~~qft~1tf% :
(A) if\
(0) ~-qr.-3

(B) Pascal

(0) Bar

(B) ~

(0) ~

187. If normal force on a block kept on a rough plane is increased to four times, then force
of friction will be :

(A) four times (B) one-fourth

'CO) half (0) unaffected*~~"fft11R ~ ~ 1R ('1'4Cf~GR'r -:em: "TIT q){ ~ ~ -at ~ ,GR'r CfiT lWr ~ :

(A) -:em: "TIT (B) ~ ,
~ J .

(0) ~ (0) ~1i~m
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,t~~jACarisrn?Vingpm~~'?!ti~,9ntaLrpad ~ith a speed of 1?-p r:nJson acirou~r, pa~€>f
radius 20 m, For the, motion of the car without slippmg, theyalu~: of coefficient of
friction will be:

(A) 0-8 (B) 8-0

(C) 80 . ." (0) 0-08 .
i / .1.>- ""t.. I.:"' "':,c "' .' .... ". .' .. " ...., :

w-n."C6R~ ~i!"tR20~:f~~ ~ ~'dfCflI<"q2f1R12-5lft./~. Cfft ~ ~"'fffi '®t'J,qjR Cfft
~'~ TTfu·~ ~-~ q;TllR m-srr : '.
(A) 0-8 (B) 8-0

(C) 80 (0) 0-08

(B) kglm2

(0) kg-m2

189. The unit of giG is!:
(A) kg/m
(C) . m2/kg

giG CfiT~t:

(A)~.;lft.
(C) lft.2/fcf;"m.

(B) ~.;lft.2
(0) fcF;m·lft.2

190. ffthe radius ofth~ eartn.M1eretOshrink'by1 %, itsmassir,emaining 'the' same,' 'tf1e
acceleration due t?gravity on the earth's surface would . ,
(A) decrease ,-'.;tl' !. (B) remain unchanged' .
(C) increase (0) nothing can be said
~."9:~ Cfft ~1 0,fo~~, ~ ~ ~oq4H~ ~m "9:~(JRYf1R1{1ffil4~:

'I

(A) ~! (8) .~~ s-,

(C) ~ ~ (0) ~.~"Cfl"ID \j'fJ ~

i

I

i , .•. .J

191. Both ends of rods A,andB of same length are at constant fixed temperatures 81 and 82-
For sarnerateot h,a,t c:on~Y;Clionif! bom r,oos,Jhe condit~~Ew,ilI ,b~.;, , 'I c",

(A) K1Al = K2A2 (B) K/A1 = K22A2 <,
(C) K1A2 =,KzA1 (0) K1A/ = KzA22 .t:
Gl'~ ~ en1.~ Am~§,~$'.]~iW':f-T~,WWf ar:r81 o~ 821R f I ~ 1l:,*:sfl' ~ Cfft
"W1R~~~~mm; ,.,. ,., ..,...•I~

i, ·.....r ~ -.,}., ~-"\ .
.' 2 2'

(A) K1A1 = K2A2 (B) K1 A1 = K2 A2
(G) K1A2= K2A1 (0) K1A12 = K2A/



1-91o 13123JiRA-:-page-S6 A-Set

192. For a prism angle of minimum deviation is 30° and angle of.prism is 60°. The refractive
index of the material of prism is :

(A) 2

(C) 13
2

(8) J2
3

(0) 12
~"fiRq CfiT ~ fCl'CJWl qftuy 30° o~ fu-;;:q qftuy 60° % I ~~"tfGTP.f CfiT ai4C1ct1iCfl % :
(A) 2 (8) J2

(C) 13
2

3
(0) J2

193. Latent heat of ice is 80 kilo-calorie/kg the quantity of heat required in melting 10 gram

of ice is :

(A) ~O kilo-calorie (8) 8·0 kilo-calorie,

(C) 0·8 kilo-calorie (0) 0·08 kilo~alorie

~ t$l ~ ~ ~ 80 fcR9l-~/fct;m t "ffi 10 m11 ~ ~ ~ ~ m qrffi ~ qft 'tIT?rT ,

t:
(A) 80 fcf;ffi-~

(C) 0·8 fcR9l-~

(8) 8·0 fcm;IT-~
(0) 0,08fcR9l-~

194~The refractive indices of the material of a lens made of crown glass, for the lights of

violet, red and yellow colour are 1'521, 1·510 and 1'517 respectively; then dispersive

power of the material of lens is :

(A) 0·021

(C) 0·008

(8) 0·031

(0) 0·013

~ q;fq ~ ~ ~~?f cfi ~qCld1iCfl ~, C'JRYJ cr·~ irt ~ ~ ~ ~ SfitM: 1'521, 1·510
q 1'517m, ~~?t'4mP.fettquffqm $mr%:

(A) 0·021 (8) 0·031

(C) 0·008 (0) 0·013

~ I" .;;' '.



195. A terrestrial tele~ ,Oc;lS ·m~nifying;\Power 1,Q .and focal length of its eyepiece is, .
20 ern, The foc~f I~~~:of. theobjectiv& will be :
(A) 2 cm (8) 200 ern

(C) 1/2 cm (0)1/200 cm
~ @a~t114~ ~ a:uq$r ~ 1'0~ ~ qft ~ ~ 20"@:ftt I ~ qft ~
~m:" .,
(A) 2 "@:ft (8) 200 "@:ft

(C) 1/2"@ft (0) 1/200 "@ft

196. If diameter of the aperture of photographic camera is aand focal length of its lens is t,
the opening time of its shutter twill be proportional to:

, ... f
(8) d

d2
(0) f2-

~ 4'iliHlllhl ~cfi~q;toqm d~~qft~~ (m,m~cfiw=Aq;t~ t~
:8'illql~ mrrr :

d
(C) ,

,2
(8)

f
(A)

d2 d

d (0) d2(C)
f (2

.197.Anelectrtcfiron'sl!leating element dissipates 480 watton 240 volt mains supply. Its
. .

resistance is :

(A) 240 0 (8) 480 0
(C) 600 . (0) 1~00
~ ~ qft~?fir ~ ~ CfiTQOe1qoa240 ~ qft ~~.1R 460 ~ ~ ~ q:mrr t I
I¢ftqo;::; CfiT~t ~
(A) 240.

(C) 60.
(8) 480.

(0) 120 ~
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. 198. When a bar-magnet of magRetiC!momenrMisdefle~d by an angle e in a uniform
magnetic field of magnetic lnductlonB, then,work done in this process is:
(A) MB (B) MB cos e
(C) MB sin e (0) MB (1 - cos e)
'\lfijf'~ M 'ijiO<SfCf)l~~ CfJ'ffi ~-~ ~ w:tR'ijiO<SfCf)1~ ~ B 'CfR9' 1iO<SfCf)1~~ -ij e q;1uJ ~

fqR mar ~, aT "Q:mem -ij fcfiGIT7p:{T.q;Ff ~ :

(A) MB (B) MB cos e
(C) MB sin e (0) MB (1 - cos e)

199. At any place angle of dip is 60°. If H is horizontal component of earth's magnetic field,
then intensity of total magnetic field will be :

H
(A) 2

H
(8) J3

H.J3
(C) 2 (0) 2H

~ ~"tR ~ ~ 60° ~ I <:rfu: ~~ ~ 1iO<SfCf)1~~ CfiT~ "egCfi Ht aT ~ 1iO<SfCf)1~~ q,l
cmrnrmrrr :

H
(A) 2

HJ3
(C) 2

H
(B);3

(0) 2H

290. There is a fixed potential difference between the two ends of potentiometer. Two cells
are connected in series in this way that in one arrangement they help each other and
in other they oppose each other. These arrangements get balanced on potentiometer
wire at 120 em and 60 cm lengths respectively. The ratio of e.m.fs. of the cells is :
(A) 2: 1 (B) 3: 1
(C) 1: 1 (0) 4: 1
fq~~GF?ffuif~~~ f.1~:qd fq~~1 Glm-t ~-q~~~~ffcfi~

oqqf¥.TT-ijGFif~-~,ctft fI~l~dl ~f~~ 6lfq~-ij~-~CfiT~~fl ~ ij41", ..j'j
CfiT~ fq~ ~ OR"tR~: 120 ~ o$l.TT 60 ~ ctft (1iO<Sfl~41"tRmar ~ f GFif ~ ~ fq:cfT.

GR'if CfiT3Tflffi ~ :

(A) 2: 1
(C) 1: 1

(B) 3: 1
(0) 4: 1
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

(please use Black ball-point Pen)

1. Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

2. Valuation Procedure:

There are four probable answers to a question,
only one of them is correct. One mark will be
awarded for each correct answer. Ifmore than
one circle are darkened tor a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded.

3. Cancellation or Change in Answer :

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the answer
sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINA TlON.

5. Care in Handling the Answer Sheet:

While using answer sheet adequate care should

be taken not to tear or spoil due to folds or

wrinkles.

~ Black ball-point 'Q;fW w:fi1T CIit)

1. ~~CliT~:

~~cfi"ffiQ: OMR ~-~-q~mcfi"
~ -q ~ ~ "I'R 1frffi -q ~~ ~ ~ en) ~

CfiffiT~1

~·g-·~·;pfi"I'R ~~ t~~~~~
~~I ~CfiT~-a-m:~crn~~aicn~

Wrr I ~"Q!-fi~ 31f~~~ ~~%m~l:1Rl

~f<f; 1fU~ en)~ CfiT~-a-m:~~~ am:

~~aicn~~~1

3. ~Cfil:~~-m~:

~~mf.rm"~t%~~~~~,:it~
~ t%f.mR q;) ~ ~ ~ ~ I 31<f: -a-m:CfiT

ifR;rr ~cfi"l'*~~CfiT"'CJ?R~~ I

4. ~-m cit~ Cfil:~ :

(i) cfT~ q;) ~ -me ~ cfi"~ ~f"lf.t:qdCf){ ~

f<f;-a-m:-me cfi"-zyn ~ 1Rwfi~1R)-";ffq,

m-r~, ~~, '"SlT-'T-~ CfiT~ ~
f.rmftt ~ 1R -atq;~-atq; ,:it~ % I

(ii)m8;lT~w~T?Jhitlw-f-~ am~
~~CIit~tl

5. ~-mcfi~-q: ~ICI"4I;ft:

"3m-~CfiT-w:fm~~"'{U~~~~'

~~,~<tT~~~mTGi";{~~1
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